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HYDROGEN

Classical Thinking

1. Hydrogen combines with other elements by

A.losing electrons

B. gaining electrons

C.sharing electrons

D. losing , gaining or sharing of electrons

Answer: D

| & o |


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_g0IM7Khz6kUd

| W Watch Video Solution

2. Electronic configuration of hydrogen is smilar to that of

A. transition elements

B. inert gases

C. alkaline earth metals

D. alkali metals

Answer: D

o Watch Video Solution

3. What are different isotopes of hydrogen?

o Watch Video Solution



https://dl.doubtnut.com/l/_g0IM7Khz6kUd
https://dl.doubtnut.com/l/_dT7TkL0JwvAU
https://dl.doubtnut.com/l/_78EvzStfi3En

4. In the combined form, dihydrogen constitues about

earth's crust.

A.7.2

B.15.4

C.30.8

D. 45.8

Answer: B

% of the

o Watch Video Solution

5. Number of isotopes of hydrogen are

A2

B.3

C.4


https://dl.doubtnut.com/l/_LLxFrdCH7940
https://dl.doubtnut.com/l/_gBjLWHtE5x3m

D.5

Answer: B

o Watch Video Solution

6. Tritium undergose radioactive decay giving

A. a-particles

B. B-particles

C. neutrons

D. y-rays

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_gBjLWHtE5x3m
https://dl.doubtnut.com/l/_358Qa0oRs3GV

7. The nucleus of a tritium (i’ H) atom would contain

neutron(s) .

Al
B.2
C.3

D.4

Answer: B

o Watch Video Solution

8. The concentration of tritium is about one atom per atoms of

protium.

A. 104
B.10'8

C.10'2


https://dl.doubtnut.com/l/_MfZghUxzyhZi
https://dl.doubtnut.com/l/_JanoYotts6MY

D. 106

Answer: B

o Watch Video Solution

9. Deuterium is used

A. as tracer in the study of mechanism of reactions

B. for increasing the rate of chemical reactions

C. as an oxidising agent in extraction of metals

D. in synthesis of rubber

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_JanoYotts6MY
https://dl.doubtnut.com/l/_sNtYHmCOmXnj

10. Metal, which gives Hy on treatment with acid as well as alkali, is

A Ag
B. Cu
C.Zn

D. Hg

Answer: C

o Watch Video Solution

1. Very pure hydrogen gas is prepared by the action of pure dilute
A. water
B. sodium hydride

C. magnesium ribbon


https://dl.doubtnut.com/l/_9HS8V0Gnn4wT
https://dl.doubtnut.com/l/_RgM1lzjZfSlZ

D. aluminium

Answer: C

o Watch Video Solution

12. Which of the following reactions is known as Uyeno's method for
preparation of hydrogen?

A. Z’I'L + 2NGOH — NCL2Z’I’L02 + H2 T

B. Mg + HzSO4(d,'l_) — MgSO, + H, T

C.NaH + H,O — NaOH + H, 1

D.2Al + 2KOH + 2H,0 — 2KAIO, + 3H, 1

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_RgM1lzjZfSlZ
https://dl.doubtnut.com/l/_x24vlJH3NHnH

13. Hydrogen can be prepared by mixing steam and water gas at 500° C in

the presence of Fe;O3 and Cry05. This process is called

A. Nelson process

B. Serpeck's process

C. Bosch process

D. Lane's process

Answer: C

° Watch Video Solution

14. In Lane's process, hydrogen is formed by

A.reaction of steam on hydrocarbons

B. mixing water gas with twice the volume of steam

C. electrolysis of brine solution


https://dl.doubtnut.com/l/_Ik3mJfVwFqdO
https://dl.doubtnut.com/l/_cChIOO2P2HXf

D. passing superheated steam over iron fillings

Answer: D

o Watch Video Solution

15. Find the INCORRECT property about dihydrogen gas.

A. Odourless
B. Colourless
C. Tasteless

D. Non-combustible

Answer: D

o Watch Video Solution

16. The bond dissociation enthalpy of dihydrogen at 298 K is



https://dl.doubtnut.com/l/_cChIOO2P2HXf
https://dl.doubtnut.com/l/_nzbSjcq0Mzn2
https://dl.doubtnut.com/l/_1u2MQ1WddVZi

A. 435.88kJmol ~ !

B. —435.88kJmol ~!

C. 43.588kJmol ~!

D. 217.44kJmol !

Answer: A

o Watch Video Solution

17. Atomic hydrogen is produced by

A. action of dilute H,SO4 on Zn.

B. action of water on CaH,

C.passing molecular hydrogen through electric arc at high

temperature

D. electrolysis of acidified water

Answer: C


https://dl.doubtnut.com/l/_1u2MQ1WddVZi
https://dl.doubtnut.com/l/_xrCv52iHQCwS

o Watch Video Solution

18. Which of the following halogens has great affinity for hydrogen?

A F

B. Cl

C.Br

D. I

Answer: A

o Watch Video Solution

19. The reaction of dinitrogen with dihydrogen gives ammonia and this

manufacturing process is called

A. Bosch process

B. Haber process


https://dl.doubtnut.com/l/_xrCv52iHQCwS
https://dl.doubtnut.com/l/_wkUvEppiLNOD
https://dl.doubtnut.com/l/_6GEJxrd6RRfg

C. Lane's process

D. Dow's process

Answer: B

o Watch Video Solution

20. Vanaspati's ghee is obtained by the reaction of dihydrogen with

vegetable oil in the presence of as a catalyst.

A Al

B. Fe

C. O

D. Ni

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_6GEJxrd6RRfg
https://dl.doubtnut.com/l/_rCKaG723IlPm
https://dl.doubtnut.com/l/_bFu73rCkLM9v

21. Dihydrogen is widely used for manufacturing of _

A. dioxygen
B. metal hydrides
C.dinitrogen

D. metal oxides

Answer: B

o Watch Video Solution

22. Liquid hydrogen mixed liquid oxygen is used as

A.vanaspati ghee

B. water gas

C. rocket fuel

D. fertilizer


https://dl.doubtnut.com/l/_bFu73rCkLM9v
https://dl.doubtnut.com/l/_N4se4ujxMo3S

Answer: C

o Watch Video Solution

23. The temperature of k is generated when atomic hydrogen is

allowed to recombine on the surface to be welded.

A. 3000

B. 3400

C. 4000

D. 5000

Answer: C

o Watch Video Solution

24.onic hydrides are formed by the elements of


https://dl.doubtnut.com/l/_N4se4ujxMo3S
https://dl.doubtnut.com/l/_31IOkh7arFSC
https://dl.doubtnut.com/l/_KkXLkF2WdvgR

A. s-block

B. p-block

C.d-block

D. f-block

Answer: A

o Watch Video Solution

25. lonic hydrides are usually

A. good electrical conductors in molten state

B. volatile compounds

C. amorphous solids

D. liquids at room temperature

Answer: A

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_KkXLkF2WdvgR
https://dl.doubtnut.com/l/_UmiAoTIR0bWa

26. What is molecular hydride?Explain with an examples.

o Watch Video Solution

27. What is Covalent hydride ? Explain with an example.

° Watch Video Solution

28. Which of the following hydrides is an electron-rich hydride?

A. HF

B. CH,

C. BoHj

D.KH

Answer: A



https://dl.doubtnut.com/l/_UmiAoTIR0bWa
https://dl.doubtnut.com/l/_sUPfPoAm7kD1
https://dl.doubtnut.com/l/_L7EojbaXxFEj
https://dl.doubtnut.com/l/_ZW6UU69HDSrk

l o Watch Video Solution

29.T%H,g o is an example of

A.ionic hydride

B. covalent hydride

C. metallic hydride

D. polynuclear hydride

Answer: C

o Watch Video Solution

30. Which of the following hydrides does NOT follow the law of constant

proportion?

A. Saline hydrides

B. Electron - precise hydrides


https://dl.doubtnut.com/l/_ZW6UU69HDSrk
https://dl.doubtnut.com/l/_GGni2pJuW375
https://dl.doubtnut.com/l/_m5bjHDEZy8P4

C. Electron-rich hydrides

D. Metallic hydrides

Answer: D

o Watch Video Solution

31. Which is the major source of water supply to the world?

A. saline lakes

B. polar ice and glaciers
C.rivers

D. oceans

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_m5bjHDEZy8P4
https://dl.doubtnut.com/l/_uckLs0MQ6qjh

32. At very low temperature, ice condenses to form.

A. triangular

B. pentagonal

C. hexagonal

D. cubic

Answer: D

o Watch Video Solution

33. X-ray study of ice shows that each oxygen atom is surrounded

tetrahedrally by four other hydrogen atom at a distance of

A. 256 pm

B.276 pm

C. 286 pm


https://dl.doubtnut.com/l/_dzquzyTxR1eK
https://dl.doubtnut.com/l/_yefQSjUE2bqA

D. 296 pm

Answer: B

o Watch Video Solution

34.The boiling point of heavy water is

A.100.° C

B.99.° C

Cc.101.4.° C

D.110.° C

Answer: C

o Watch Video Solution

35.The molecular formula of super heavy water is



https://dl.doubtnut.com/l/_yefQSjUE2bqA
https://dl.doubtnut.com/l/_TETqCGeJjrZw
https://dl.doubtnut.com/l/_Dwiq88smKrtd

A H,0

B. D,O

C. 7,0

D. HDO

Answer: C

o Watch Video Solution

36. Super heavy water freeze at

A.0.°C

B.273.° C

C.4.48.° C

D. 9K

Answer: C

I o Watch Video Solution



https://dl.doubtnut.com/l/_Dwiq88smKrtd
https://dl.doubtnut.com/l/_Od3X6hb7UrTK

37. Which of the following is the lightest isotopic variety of water?
A H,.** O
B.D,.1" 0O
C.H,.180

D.T5,.2 O

Answer: A

o Watch Video Solution

38. What happen when granulated zinc is reacted with NaOH ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Od3X6hb7UrTK
https://dl.doubtnut.com/l/_mL8JZhkOmyVV
https://dl.doubtnut.com/l/_4MSGat36UrjI

39. Identify the product formed when barium peroxide is treated with
phosphoric acid.

A. Ba3(PO4)2 + HzO

B. Bag(PO4)2 + H2

C. BG(OH)Z + P205 + H202

D. Ba3(PO4)2 + H202

Answer: D

o Watch Video Solution

40.10 volume H50O5 means

A. One litre of H,0O, solution on decomposition gives 10 litre of O, at

STP


https://dl.doubtnut.com/l/_67UveT3qll8a
https://dl.doubtnut.com/l/_yWKIKq0zWeN6

B. 10 litre of HyO, solution on decomposition gives 10 litre of O, at

STP

C. One litre of HyO, solution on decomposition gives 10 grams of Oy

at STP

D. One litre of Hy0O5 solution on decomposition gives 10 mL of O, at

STP

Answer: A

o Watch Video Solution

41.30 volume Hy;Oy means

A.30% (w/v) Hy0, solution
B. 30cm?® of the solution contains 1g of Hy0,
C. 1lem? of the solution liberates 30cm?® of O, at ST.P

D. 30cm? of the solution contains one mole of Hy0,


https://dl.doubtnut.com/l/_yWKIKq0zWeN6
https://dl.doubtnut.com/l/_giQXcpcBhd0u

Answer: C

o Watch Video Solution

42. A 10 volume H505 has a normality of

A.0.79 N

B.1.79 N

C.279N

D.3.79N

Answer: B

o Watch Video Solution

43. Commercially, hydrogen peroxide is marketed as 100 V, which means it

contains

I o Watch Video Solution


https://dl.doubtnut.com/l/_giQXcpcBhd0u
https://dl.doubtnut.com/l/_oQkScmaxNgXF
https://dl.doubtnut.com/l/_edaQLvMgPFZA

44. Bond angle between two plane in crystalline state of H50O, is

A.90.2°

B.94.8°

C.111.5°

D.101.9°

Answer: A

o Watch Video Solution

45. What do you mean by syngas ?

o Watch Video Solution



https://dl.doubtnut.com/l/_edaQLvMgPFZA
https://dl.doubtnut.com/l/_48Fv0HUHQ8KZ
https://dl.doubtnut.com/l/_Lp5N7HBVdAZl

46. Hydrogen peroxide is sold in the market as

A. petrol

B. hydrol

C. peroxide

D. perhydrol

Answer: D

° Watch Video Solution

47.The oxidation number of oxygen in HyOyis

A +1


https://dl.doubtnut.com/l/_TmxgODci8GK8
https://dl.doubtnut.com/l/_ezKgB6WEmjHX

Answer: B

o Watch Video Solution

48. Hydrogen peroxide does NOT act as a/an

A. oxidising agent
B. reducing agent
C. bleaching agent

D.drying agent

Answer: D

o Watch Video Solution

49. H,0, on reacting with ethene gives

A. ethane


https://dl.doubtnut.com/l/_ezKgB6WEmjHX
https://dl.doubtnut.com/l/_V7qf3ztDN8gd
https://dl.doubtnut.com/l/_0g1UtH5lL5AT

B. ethanal

C. ethylene glycol

D. ethanol

Answer: C

o Watch Video Solution

50. is present as an impurity in dihydrogen.

A. oxides of Nitrogen

B. Oxygen

C. Helium

D. Carbon monoxide

Answer: A::D

o Watch Video Solution



https://dl.doubtnut.com/l/_0g1UtH5lL5AT
https://dl.doubtnut.com/l/_fdk9aba5p9rC
https://dl.doubtnut.com/l/_qfGRUrKei0qM

51. By which process ,syngas is produced from coal ?

o Watch Video Solution

52. what happens when dihydrogen reacts with dinitrogen ?

o Watch Video Solution

53. Hydrogen is prepared on an industrial scale

A. from sodium hydride and water

B. from water gas (Bosch process)

C. by Uyeno's method

D. by Haber's process

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_qfGRUrKei0qM
https://dl.doubtnut.com/l/_ykN4w96r5VT8
https://dl.doubtnut.com/l/_z8eH8FXyUJau

54. The most abundant element in the universe is

A.dihydrogen

B. dioxygen

C.dinitrogen

D. silicon

Answer: A

° Watch Video Solution

Critical Thinking

1. The sum of protons, electrons and neutrons in an atom of deuterium is

A2


https://dl.doubtnut.com/l/_z8eH8FXyUJau
https://dl.doubtnut.com/l/_1wQ6jRq2Zz0J
https://dl.doubtnut.com/l/_LUGkg9AdqzFt

B.3

C.4

D.5

Answer: B

o Watch Video Solution

2. Deuterium differs from hydrogen ?

A. chemical properties

B. physical properties

C. both physical and chemical properties

D. radioactive properties

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_LUGkg9AdqzFt
https://dl.doubtnut.com/l/_XlxC3ecdClHs
https://dl.doubtnut.com/l/_a52RhRmWegrR

3. Which of the following statements concerning protium, deuterium and

tritium is not true ?

A. They are isotops of each other

B. They have similar electronic configurations.

C.They exist in the nature in the ratio of 1:2:3.

D. Their mass number are in the ratio of 1:2:3.

Answer: C

o Watch Video Solution

4. Which of the following properties decreases from hydrogen —
deuterium — tritium?

A. Relative atomic mass (gmol_ 1)

B. Density (gL_l)

C. Melting point (K)


https://dl.doubtnut.com/l/_a52RhRmWegrR
https://dl.doubtnut.com/l/_6CHWyIcEMviQ

D. Active abundance (%)

Answer: D

o Watch Video Solution

5. what happens when hydrogen reacts with alkali metals ?

o Watch Video Solution

6. The catalyst used in Bosch process is

A. F€203

B. N3

C.Fe

D.ThO,

Answer: A



https://dl.doubtnut.com/l/_6CHWyIcEMviQ
https://dl.doubtnut.com/l/_roM7NdWu2Lnc
https://dl.doubtnut.com/l/_AXpp8iErkaWt

I o Watch Video Solution

7. Complete the chemical reaction :-

CO + H2 ->

o Watch Video Solution

8.Dihydrogen is used for following EXCEPT

A. for the hydrogenation of vegetable oils

B. in the manufacture of ammoina

C.in oxyhydrogen torches

D. as tracers in the study of reaction mechanism

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_AXpp8iErkaWt
https://dl.doubtnut.com/l/_MhsbihpWudMC
https://dl.doubtnut.com/l/_vwc6hrpiSydt
https://dl.doubtnut.com/l/_wuT0ZHe7QjPW

9. Alkali metal hydrides react with water to give

A. acidic solution

B. basic solution

C. neutral solution

D. hybride ion

Answer: B

o Watch Video Solution

10. Li AlH, is obtained by reaching with Al,Clg.

A. LiCi

B. LiH

C.Li

D. LiOH


https://dl.doubtnut.com/l/_wuT0ZHe7QjPW
https://dl.doubtnut.com/l/_HVLAfIUyjwFw

Answer: B

o Watch Video Solution

11. Metals of groups 7, 8 and 9 do not form metallic hydrides. This is

termed as

A. hydride gas

B. dydride shift

C.interstitial gap

D. energy gap

Answer: A

o Watch Video Solution

12. What happen when Lithium Hydride react with dimer of Aluminium

chloride ?


https://dl.doubtnut.com/l/_HVLAfIUyjwFw
https://dl.doubtnut.com/l/_YqJYwg5F8G0Q
https://dl.doubtnut.com/l/_R6QsPkNgXhhs

o Watch Video Solution

13. What is auto - protolysis of water ?

o Watch Video Solution

14. Explain amphoteric nature of water when it react with NH3 and HyS

?

o Watch Video Solution

15. What happens when CaC5 reacts with H,O ?

o Watch Video Solution

16. Water reacts with fluorine liberating


https://dl.doubtnut.com/l/_R6QsPkNgXhhs
https://dl.doubtnut.com/l/_8CO9X3prmjiE
https://dl.doubtnut.com/l/_6Iu7TPrSUxj5
https://dl.doubtnut.com/l/_cFBu2AKObUd2
https://dl.doubtnut.com/l/_fKxsuP8H5SNV

A.dihydrogen

B. dioxygen

C. hydrogen fluoride

D. hydrogen peroxide

Answer: B

o Watch Video Solution

17. The approximate mass of tritium oxide molecule is

A.18 amu

B.20 amu

C.22 amu

D. 24 amu

Answer: C

[ o Watch Video Solution


https://dl.doubtnut.com/l/_fKxsuP8H5SNV
https://dl.doubtnut.com/l/_KVPhBTj5j00l

18. Among the diffrent kinds of water, is vital for life processes.

A. heavy water

B. deuterium water

C. protonium water

D. tritium water

Answer: C

o Watch Video Solution

19. Which of the following method of preparation of HyO, is known as

Merck's method?

Ba07.8H2O(s) + HZSO4(aq) — BCLSO4(3) + H202(aq) + SHQO(Z)


https://dl.doubtnut.com/l/_KVPhBTj5j00l
https://dl.doubtnut.com/l/_KYn2unZTUWPN
https://dl.doubtnut.com/l/_a7F7DkBUfzDt

B. NG,202 + H2SO4 — Na28'04 + H2O2
C. BaO, + H,0 + COy — BaCO3 | + H>0O

D. 3Ba02 + 2H3PO4 — Bag(PO4)2 l + 3H202

Answer: B

o Watch Video Solution

20. What happens when Al,Cj5 reacts with H,O ?

o Watch Video Solution

21. The volume strenght of 3.0 MH,0, solution is

A.1.87
B.3.73

C.16.8


https://dl.doubtnut.com/l/_a7F7DkBUfzDt
https://dl.doubtnut.com/l/_qQYOa5z6qd2E
https://dl.doubtnut.com/l/_2EkXXOKfUrlK

D.33.6

Answer: D

o Watch Video Solution

22. Decomposition of HyO, is accelerated by

A. traces of acids

B. finely divided metals

C. glycerol

D. alcohol

Answer: B

o Watch Video Solution

23. What happens when SOj reacts with Hy,O ?



https://dl.doubtnut.com/l/_2EkXXOKfUrlK
https://dl.doubtnut.com/l/_0Cu20Zn3DqWj
https://dl.doubtnut.com/l/_3HhQ82IIT6aP

I o Watch Video Solution

24. H,0O- undergoes self-oxidation and self-reduction to form

A.H,0 + O,

B. Hy + O,

C.OH "~

D.O; + H,O

Answer: A

o Watch Video Solution

25. In which of the following reactions, H,O, act as a reducing agent ?

A. PbOz(g) + Hy0O(2(aq)) — PbO, + H,O; + O3 (¢)
B. NCLzSOg(aq) + HgOg(aq) — Na2SO4(aq) + HgOl

C.2KI(aq) + Hy05(aq) — 2KOH(aq) + L4


https://dl.doubtnut.com/l/_3HhQ82IIT6aP
https://dl.doubtnut.com/l/_GLBUtA1MACtF
https://dl.doubtnut.com/l/_vE9uItXVSfoC

D. KNO2(aq) + H2O2(aq) — KNO3(aq) + HgOl

Answer: A

o Watch Video Solution

26. When lead sulphide reacts with hydrogen peroxide,The produce

formed is :-

o Watch Video Solution

27. is the main energy currency in hydrogen economy.

A. Electricity

B. Water

C. Dihydrogen gas

D. Dioxygen gas


https://dl.doubtnut.com/l/_vE9uItXVSfoC
https://dl.doubtnut.com/l/_MSmGNWukRBH2
https://dl.doubtnut.com/l/_EzkEv1NShoQv

Answer: C

° Watch Video Solution

28. Which of the following is FALSE?

A. Hydrogen is a clean burning fuel.

B. Burning of hydrogen does not produce fossil fuels.

C. Hydrogen is a cheap and renewable source of energy.

D. In hydrogen economy, hydrogen can be easily transported through

underground pipeline

Answer: C

o Watch Video Solution

29. Number of nucleons in Dy molecule is


https://dl.doubtnut.com/l/_EzkEv1NShoQv
https://dl.doubtnut.com/l/_8FVM0vfn7fhH
https://dl.doubtnut.com/l/_2w2OKQ95Ob1g

A1l

B.2

C.3

D.4

Answer: D

o Watch Video Solution

30. In which of the compounds does hydrogen have an oxidation state of
-17?

A.CH,

B. NHj

C.HCI

D. C’aH2

Answer: D


https://dl.doubtnut.com/l/_2w2OKQ95Ob1g
https://dl.doubtnut.com/l/_2Qz7aeUHomAY

o Watch Video Solution

Competitive Thinking

1. Hydrogen accepts an electron to form inert gas configuration. In this it

resembles

A. halogens

B. alkali metals

C. chalocogens

D. alkaline earth metals

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_2Qz7aeUHomAY
https://dl.doubtnut.com/l/_bxSl1RXowWWI

2. Hydrogen resembles alkali metals in many aspects but differs in

A. metallic character

B. oxide formation

C. sulphide formation

D. halide formation

Answer: A

o Watch Video Solution

3. Hydrogen resembles in many

A. halogens

B. alkali metals

C. both (a) and (b)


https://dl.doubtnut.com/l/_hz5BeXmlWHSo
https://dl.doubtnut.com/l/_wYZOHqyhnWp7

D. none of these

Answer: C

° Watch Video Solution

4. Which of the following statement is not correct regarding hydrogen

atom?

A. It resmbles halogens in some properties.

B. it resembles alkali metals in some properties

C. it can be placed in group 17 of periodic table

D. it cannot be placed in first group of periodic table.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_wYZOHqyhnWp7
https://dl.doubtnut.com/l/_9IfdUVq7kHn8

5. The composition of tritium is

A.1electron, 1 proton, 1 neutron

B. 1 electron, 2 protons, 1 neutron

C.1electron, 1 proton, 2 neutrons

D. 1 electron, 1 proton, 3 neutrons

Answer: C

o Watch Video Solution

6. Very pure hydrogen (99.9 % ) can be made by which of the following
processes ?

A. Reaction of methane with steam.

B. Mixing natural hydrocarbons of high molecular weight

C. Electrolysis of water


https://dl.doubtnut.com/l/_8YzPEuGzaymI
https://dl.doubtnut.com/l/_8997UByxMlV6

D. Reaction of salts like hydrides with water.

Answer: D

o Watch Video Solution

7. Metal which does not react with cold water but evolves Hy with steam

is :

A. Na

B. K

C. Pt

D. Fe

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_8997UByxMlV6
https://dl.doubtnut.com/l/_u6bBColJyq5z

8. Metal hydride on treatment with water gives :

A. H,O,

B. H,O

C.HCl

D. H,

Answer: D

o Watch Video Solution

9.The boiling point of water is exceptionally high because

A. there is covalent bond between H and O

B. wate molecule is linear

C. water molecules associate due to hydrogen bonding

D. water molecule is not linear


https://dl.doubtnut.com/l/_fSq0IEKJK5qq
https://dl.doubtnut.com/l/_D16vTM50U996

Answer: C

° Watch Video Solution

10.The H — O — H angle in water molecule is about

A.90°

B.180°

C.102°

D. 105°

Answer: D

o Watch Video Solution

11. What are the products of auto-photolysis of water?

A. Hy and Oy


https://dl.doubtnut.com/l/_D16vTM50U996
https://dl.doubtnut.com/l/_PWcXQ1RD4yu0
https://dl.doubtnut.com/l/_dish2AIrauyi

B. steam
C. H?,OJr and OH ~

D. hydrogen peroxide

Answer: A

o Watch Video Solution

12. One mole of magnesium nitride on reaction with an excess of water

gives

A. one mole of ammonia

B. one mole of nitric acid

C. two moles of ammonia

D. two moles of nitric acid

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_dish2AIrauyi
https://dl.doubtnut.com/l/_XMdd93rJVelk

13. What is super heavy water ?

o Watch Video Solution

14. D50 is used more in

A. chemical industry

B. nuclear reactor

C. pharmaceutical preparations

D. insecticide preparation

Answer: B

o Watch Video Solution

15. Describe Clark's method to remove hardness of water ?

[ &


https://dl.doubtnut.com/l/_XMdd93rJVelk
https://dl.doubtnut.com/l/_QaiPXRDdc5JI
https://dl.doubtnut.com/l/_qLDiFjYh9Bjq
https://dl.doubtnut.com/l/_ICFby5cjfn5q

l e Watch Video Solution

16. What is formed when calcium carbide reacts with heavy water?

A. CyD,
B. C&Dz
C. Ca,z)D2O

D.CD,

Answer: A

o Watch Video Solution

17.1n lab H,O, is prepared by

A. Cold HzSO4 + Ba02

B. HCI + Ba02

C.Conc. H,SO4 + Nay0,


https://dl.doubtnut.com/l/_ICFby5cjfn5q
https://dl.doubtnut.com/l/_TsBrfncA3JZR
https://dl.doubtnut.com/l/_WSv7jlxa9RWn

D. Hy + O,

Answer: A

o Watch Video Solution

18. What is the product of the reaction of HyO with Cly?

A.O, + HOCI

B. HCIl + O,

C.H,O + HCI

D. HCl + H,

Answer: B

o Watch Video Solution

19. The volume strength of 1 - 5 N HyO5 solution is


https://dl.doubtnut.com/l/_WSv7jlxa9RWn
https://dl.doubtnut.com/l/_lN2ye5qYohSS
https://dl.doubtnut.com/l/_NNJ3yaCkX6QD

A.48

B.5.2

C.84

D. 8.8

Answer: C

o Watch Video Solution

20. The volume of oxygen liberated from 0.68g of H50, is

A 112 mL

B. 224 mL

C.56 mL

D.336 mL

Answer: B

I o Watch Video Solution


https://dl.doubtnut.com/l/_NNJ3yaCkX6QD
https://dl.doubtnut.com/l/_BD602lH19Uor

21. A sample of hydrogen peroxide is labelled as 10 volume. Its strength is

B. 60.70

C.15.17

D. 45.42

Answer: A

o Watch Video Solution

22. When P, is hydrolysed with water ,it forms :-

o Watch Video Solution



https://dl.doubtnut.com/l/_BD602lH19Uor
https://dl.doubtnut.com/l/_QkCH2SdG9E5t
https://dl.doubtnut.com/l/_rO7l9EydhMiz

23. The volume of oxygen liberated from 15m! of 20 volume H505 is

A. 250 mL

B.300 mL

C.150 mL

D. 200 mL

Answer: B

° Watch Video Solution

24. What is metallic hydrides ? Explain with examples ?

A3

B.30

C.60

D.6


https://dl.doubtnut.com/l/_FdVuSX2w6BNo
https://dl.doubtnut.com/l/_ZUEfTekHiVrP

Answer: C

° Watch Video Solution

25. The strength in volumes of a solution containing 30.36 g/L of HyO is

(Given volume of 1 mole of gas STP = 224 litre)

A. 10 volume

B. 20 volume

C.5volume

D. 30 volume

Answer: A

° Watch Video Solution

26.Role of hydrogen peroxide iin the following reaction is respectively.

(’L) H202 + 03 — HQO + 202


https://dl.doubtnut.com/l/_ZUEfTekHiVrP
https://dl.doubtnut.com/l/_zLmk1lBnEDK7
https://dl.doubtnut.com/l/_Ii5h0dPGLKAc

(’LZ) H202 + AgzO — Aag + HQO + 02

A. Oxidizing in (i) and reducing in (ii)
B. Reducing in (i) and oxidizing in (ii)
C. Reducing in (i) and (ii)

D. Oxidizing in (i) and (ii)

Answer: A

o Watch Video Solution

27. In which of the following reaction hydrogen peroxide is a reducing

agent

A. 2F€Cl2 + 2HCIl + H202 — 2F€Cl3 + 2H20

B.Cly, + HyOy — 2HCl + O,

C.2HI + H202 — 2H20 + Iz

D. HgSOg + H202 — H2SO4 + HQO


https://dl.doubtnut.com/l/_Ii5h0dPGLKAc
https://dl.doubtnut.com/l/_73XljMVP0sSO

Answer: B

o Watch Video Solution

28. From the following statements regarding H,O-, choose the incorrect

statements:

A. it can act only as an oxidizing agent.

B. it decomposes on exposure to light.

C.it has to be stored in plastic or wax lined glass bottles in dark .

D. it has to be kept away from dust

Answer: A

° Watch Video Solution

29. Which of the following gas is insoluble in water?


https://dl.doubtnut.com/l/_73XljMVP0sSO
https://dl.doubtnut.com/l/_CYmvGSuXsY6X
https://dl.doubtnut.com/l/_JnWHBd2fsk7k

A. SO,

B. NH;

D. CO,

Answer: C

o Watch Video Solution

30. Heavy water is

A. water containing Fe, Cr, Mn
B.water at 0.° C
C.D,O

D.H,.** O

Answer: C

I o View Text Solution


https://dl.doubtnut.com/l/_JnWHBd2fsk7k
https://dl.doubtnut.com/l/_hPZQ0afQG1w7

Evaluation Test

1. Hydrogen has three isotopes, the number of possible diatomic
molecules will be

A2

B.6

C.9

D.12

Answer: B

° Watch Video Solution

2. Which of the following metals donot liberate hydrogen from dilute

hydrochloric acid ?


https://dl.doubtnut.com/l/_hPZQ0afQG1w7
https://dl.doubtnut.com/l/_P17r3e58xqSA
https://dl.doubtnut.com/l/_HA3VdRnSd3gm

A.Zn

B. Mg

C.Fe

D. Au

Answer: D

o Watch Video Solution

3. When the same amount of zinc is treated separately with excess of

sulphric acid and excess of sodium hydroxide, the ratio of volume of

hydrogen evolved is

Al:1

B.1:2

C.2:1

D.9:4


https://dl.doubtnut.com/l/_HA3VdRnSd3gm
https://dl.doubtnut.com/l/_vZLoID3egLkr

Answer: A

o Watch Video Solution

4. Hydrogen ion H ™ is isoelectronic with

A Li

B. He

CHT

D.Li~

Answer: B

o Watch Video Solution

5. Which of the following produces hydrolith with dihydrogen ?

A. Mg


https://dl.doubtnut.com/l/_vZLoID3egLkr
https://dl.doubtnut.com/l/_r55xNBiXZvF5
https://dl.doubtnut.com/l/_egJwUx1QYwuQ

B. Al

C.Cu

D.Ca

Answer: D

o Watch Video Solution

6. State whether given statement is true or false :-

H,0 is non-polar solvent.

o Watch Video Solution

7.Find x and y respectively in the following reactions :
H>0
CaO —5

H,0
CaCy y +x

A.Ca(OH),, CyH,


https://dl.doubtnut.com/l/_egJwUx1QYwuQ
https://dl.doubtnut.com/l/_YPvMdBF5wCju
https://dl.doubtnut.com/l/_2ulbfZuapkqt

B. C’aH2, 02H2
C.Ca(OH),, CH,

D. C(I(OH)2, CzHﬁ

Answer: A

o Watch Video Solution

8. Volume strength of Hy,O, =

A.11.2 x Normality

B.11.2 x Molarity

c Normality
' 5.6

Molarity
11.2

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_2ulbfZuapkqt
https://dl.doubtnut.com/l/_iEg0dYqFAF5n
https://dl.doubtnut.com/l/_tnjM10bjfR7J

9. When SOj is treated with heavy water the product/s is/are

A. deuterium and sulphuric acid

B. deuterium and sulphurous acid

C. di-deutero sulphuric acid

D. super heavy water

Answer: C

o Watch Video Solution

10. What do you mean by hydroformylation of olefins ?

o Watch Video Solution

11. In context with the industrial preparation of hydrogen from water gas

(CO + H,) , which of the following is the correct statement ?


https://dl.doubtnut.com/l/_tnjM10bjfR7J
https://dl.doubtnut.com/l/_4MuvwFdMDizd
https://dl.doubtnut.com/l/_2Fe91srnQNN2

A.CO is oxidised to C'O;, with steam in the presence of a catalyst

followed by dissolution of CO, in water under pressure.

B.CO and H, are fractionally separted using difference in their

densities.

C.CO is removed by absorption in aqueous Cu,Cl, solution.

D. H, is removed through occlusion with Pd.

Answer: A

o Watch Video Solution

12. Explain water gas shift reaction.

o Watch Video Solution

13. Write the reaction involved in formation of Li BH,


https://dl.doubtnut.com/l/_2Fe91srnQNN2
https://dl.doubtnut.com/l/_wLqE3LcY8WhP
https://dl.doubtnut.com/l/_naPWqfPUe3IK

Answer:

o Watch Video Solution

14. What happens when NaH reacts with H5O :-

o Watch Video Solution



https://dl.doubtnut.com/l/_naPWqfPUe3IK
https://dl.doubtnut.com/l/_vydW45BBhxc2

